

9.2

I

$$f(x) = (1+x^2)^{1/2}$$

$$f'(x) = \frac{1}{2}(1+x^2)^{-1/2} [2x] = x(1+x^2)^{-1/2}$$

$$f''(x) = (1+x^2)^{-1/2} + \frac{-1}{2}(1+x^2)^{-3/2} (2x) \cdot x$$

$$f''(x) = (1+x^2)^{-1/2} - \frac{x^2}{(1+x^2)^{3/2}}$$

$$f'''(x) = \frac{-1}{2}(1+x^2)^{-3/2} [2x] - 2x(1+x^2)^{-5/2} + \frac{3}{2}(1+x^2)^{-5/2} [2x]x^2$$

$$= -x(1+x^2)^{-3/2} - 2x(1+x^2)^{-5/2} + 3(1+x^2)^{-5/2} x^3$$

$$= -3x(1+x^2)^{-5/2} + 3x^3(1+x^2)^{-5/2}$$

$$f^{(4)}(x) = -3(1+x^2)^{-5/2} + \frac{3}{2}(1+x^2)^{-5/2} (3x) [2x]$$

$$+ 9x^2(1+x^2)^{-5/2} + \frac{-5}{2}(1+x^2)^{-7/2} [2x] (3x^3)$$

$$f(0) = 1 \quad P_4(x) = 1 + \frac{1}{2}x^2 - \frac{3}{24}x^4$$

$$f'(0) = 0$$

$$f''(0) = 1 \quad \boxed{P_4(x) = 1 + \frac{1}{2}x^2 - \frac{1}{8}x^4}$$

$$f'''(0) = 0$$

$$f^{(4)}(0) = -3$$

II

$$\frac{x}{1-x^3}$$

$$\text{USE } \frac{1}{1-x} = 1 + x + x^2 + \dots + x^n + \dots$$

$$\frac{1}{1-x^3} = 1 + x^3 + x^6 + \dots + x^{3n} + \dots$$

$$\frac{x}{1-x^3} = x + x^4 + x^7 + \dots + x^{3n+1} + \dots$$

9.2

13

$$\frac{1}{x+1}, \quad x=2$$

$$f(x) = (x+1)^{-1} \quad f(2) = \frac{1}{3}$$

$$f'(x) = -(x+1)^{-2} \quad f'(2) = -\frac{1}{9}$$

$$f''(x) = 2(x+1)^{-3} \quad f''(2) = \frac{2}{27}$$

$$f'''(x) = -6(x+1)^{-4} \quad f'''(2) = -\frac{2}{27}$$

$$f^{(4)}(x) = 24(x+1)^{-5} \quad f^{(4)}(2) =$$

$$\frac{1}{3} - \frac{1}{9}(x-2) + \frac{2}{27} \cdot \frac{1}{2}(x-2)^2 - \frac{2}{27} \cdot \frac{1}{63}(x-2)^3$$

$$+ \dots + (-1)^n \frac{1}{3^{n+1}}(x-2)^n$$

$$\sum_{n=0}^{\infty} \frac{(-1)^n}{3^{n+1}}(x-2)^n$$

$\frac{1}{3}$	$\frac{1}{9}$	$\frac{1}{27}$	$\frac{1}{81}$
0	1	2	3

19

$$f(x) = \sin x \quad f\left(\frac{\pi}{4}\right) = \frac{1}{\sqrt{2}} \quad P_1(x) = \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}(x - \frac{\pi}{4})$$

$$f'(x) = \cos x \quad f'\left(\frac{\pi}{4}\right) = \frac{1}{\sqrt{2}}$$

$$f''(x) = -\sin x \quad f''\left(\frac{\pi}{4}\right) = -\frac{1}{\sqrt{2}} \quad P_2(x) = \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}(x - \frac{\pi}{4}) - \frac{1}{\sqrt{2}} \frac{1}{2!} (x - \frac{\pi}{4})^2$$

$$f'''(x) = -\cos x \quad f'''\left(\frac{\pi}{4}\right) = -\frac{1}{\sqrt{2}}$$

$$f^{(4)}(x) = \sin x \quad f^{(4)}\left(\frac{\pi}{4}\right) = \frac{1}{\sqrt{2}}$$

$$P_2(x) = \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}(x - \frac{\pi}{4}) - \frac{1}{2\sqrt{2}}(x - \frac{\pi}{4})^2$$

$$P_3(x) = \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}(x - \frac{\pi}{4}) - \frac{1}{2\sqrt{2}}(x - \frac{\pi}{4})^2 + \frac{1}{6\sqrt{2}}(x - \frac{\pi}{4})^3$$